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The University of Calgary =
Department of Chemical & Petroleum Engineering
ENCH 501: Transport Processes Quiz #3 September 28, 2004

Time Allowed: 35 mins. Name:

Problem #1 (4 points)

Itis given that a solution of 6% by weight salt (NaCl) in water at 20°C has a density of 1041.3 kg/m®.
Calculate the mass concentrations for salt and water in the solution.

Problem #2 (6 points)

Fluid B

The temperature differences between the fluids at the ends

of a double-pipe heat exchanger are determined to be

AT1 and AT2. The log-mean temperature difference ATm is e
)

defined as:
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What is ATm when AT1 ~AT2? Show all your steps.

Extended Mean Value Theorem (Taylor series) T

f(b) = (@) + f'(a) (b-a) + F*(a) (b-a)/2! + ... f'(a) (b-a)"/n!...

IN(1+x) = x -x32 +.x%3 ........ -1)""x"n ....
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